Polynomial Functions


Name _________________________

Review WS 2
Find the zeros.  If irrational leave in radical form.  Do not give decimal answers.
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4. Write the polynomial function with roots 2, (
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5. Write a polynomial function with the given roots:  (1, 
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6. Given:  
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a) name the factors of the function:  _____________________________

b) name the zeros of the function:  ______________________________

c) name the y-intercept of the function:  _________________________

7. Given a function 
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 is a zero.  Find the remaining zeros.

8. Find the possible rational zeros of 
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9.  Find the remainder:  
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10.  Solve the system of equations: 
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Answers:
1) (2, (1, 1     2) (1, 1, 3 ± 2i     3) (1, 2 ± 3i     4) f(x) = x3 – 2x2 ( 3x – 6 

5) f(x) = x3 – 5x2 + 4x + 10     6a) (x – 4)(3x – 1)     6b) 4, 1/3     6c) (0, 7)

7) ±2, 3 ± i     8) ±(1, 2, 3, 6, ½, 3/2)     9) r = (3     10) (3, 4), ((4, (3)
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